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Note: Write answers to the questions on the objective answer sheet provided. Four possible answers are
given. Which answer you consider correct fill the corresponding circle A,B,C or D in front of each

question with marker or ink on the answer sheet provided.
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Twao small charged spheres are separated by 2mm,
Which of the following would produce the greatest
attractive force?

a_gﬂJ);JM-afhrJ/‘PbL?mm J(J/’V».vbd_/n
?JJ\{J}'JJ-I(NLJG'V&LWE' lu’{

(A) +lgand +4q (B) -l1gand-4q (C) +2q and +2q ‘ (D) +2qand-2q
What is the voltage across a 6( resistor when 3A of b uIHL é‘ut?fi\q-'h f_:” )(( At rid 60
current passes through it?
(A) 2V (B) 9V (C) \ 18V \(D) \\ 36V
Which part of a D.C motor reverse the direction of Jw)i-bqf—cu'uhfﬂ” h ;‘VZ-:’/\(UJ(V/:'JJJ
current through the coil every half cycle?
"\ \\ \ -L;)c’dj«f [w"
(A) The commutator v (H) "\ The ature O } I / S
v J’
{C) ~ The brushes ,,f""“"”““‘*\f 4 D) \ The sl1 £ e
N\
If X = A.B, then X is "1" wh;fn \ a 1" J,J X 3 X=AB/
(A) A=1&B=1 (B). ;’K 05?‘]3 ﬁ (O gExE!Oa@ ) A=landB=0
In computer terminology mfcirmatmn m?ans ® \ ' ‘-_,.,bel(u" SN G2 e
(A)  Any d,at’a ) (Mﬁﬁ{ aw data &3
(©) Proaessed &ata iy ~ Large data ool g
When ur%fnum (92 PTGtOHS) ejects a beta 1 J/uuu‘f;w(! 59, L b L A (92 P i
particle,/How many prot‘o{xs will beinthe (M) 7 77
remaining nucle s” “«g, P
(A) 89 protons 3 489 ProtoRs. . Afﬁ,'/% (C) 9lprotons 34,91 (D) 93 protons 74:,93
If speed of sound is 332ms’<then distance covered byt elins Jo S 1,590 332ms e Shn Sl
in 1.5 sec will be: \‘x ~~~~~~~~~ o : K
(A) 3315m (B) 333 5m (C) 498m (D) 221m
By end of two half lives, hov(r,many number of atoms o b S S A S skt B0 110 L U s
of radioactive element resfidin un- decayed. ) ) ;
1 2 3 1
A ~ B — C - D =
@) : ®) . © ; () =
For an ideal transformer we can write: e, (?.’4'7" ST L
(A) P, # P, B B=PF (C B, > P (D) B <&
Waves transfer: 2/ e
(A) Enei'gy ds (B) Frequency g’f’ £ (C) Wavelength ,,'15,"!; (D) Velocity $1s
For a normal person, audible frequency range for _ i d T T v
sound wave lie between : ik bt o Z L]
(A) 10HZ-I0KHZ (B) 20HZ-20KHZ (C) 25HZ-25KHZ (D) 30HZ-30KHZ
Which type of image is produced by the converging lens et B, ‘Puf U7 LA 740
of human eye if it views a distant object? '
(A) Real, erect, same size ALz, (’ ,u’;,—..fu (B) Real, inverted, diminished Aot i oo

(C)  Virtual, erect, diminished J;g’.:.‘/.‘u’ /:«J',;»

(D)

Virtual, inverted, magnified ¢ z_-,,a.(_}'i.J’gu
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Section « | Jil o
2. Write short answers of any five parts of the question. (2x5=10) -G Lz i,gc_éf 2.
(i) Define restoring force and write S.1. units of spring constant 'k’ sy s1 L ReS Ly fs fSss s ()

(i) Define mechanical waves and electromagnetic waves. S P B S5 (i)
(i) Aball is dropped from a certain height onto the floor and keeps 5 ., /&, 2tWtesmiz it/ /,j;@(jg,vgbg Sl g s (i)
bouncing. Is the metion of the ball simple hammonic? Explain. o Lo it P, it
{iv) How does electrostatic induction differ from charging by friction? tebni¥ et Suna s LSS 6 g B ()
(v) Charge of how many electrons is equal to one coulomb? f(,?m)&cjbénfurézﬂbdf £ (V)
(vi) Wite two factors that affect the ability of a capacitor to store charge.  .opi /2o s eeb 2 z..//m on e L fv-”(fc.uru’,, 0. (vi)
(vii) Does a fuse in a circuit control the potential difference or the current? Explain. ../ uu,?f et/ d:/(u‘}n}‘“ pdeS s (i)
(viil) How can we differentiate between e. m. f. and potential difference? - 12 ;fu :Zu*/:u"” gt gl (vill
3. Write short answers of any five paﬁs of the question. (2x5*10 ..éduwﬁ%!?létg_éf 3.
(i) What are two uses of ultra sound in medicine? % g, /J&«m\[_uw i L )

(i) Explain that noise is a nuisance. h e TP 0 el (i)
(i) What is meant by sound whistie? Write its range. \\,\ \‘\ - & sl 2 r__J'//v (iif)
(iv) Which is more reliable flappy or a hard disk? __ A % (//i/ a5 ()
{v) Describe the photo phane briefly. //’ F N @ e (V)
{vi) Define computer, write the name of i’gg’maiapa[gg»\: :; ¢ Q.{*’(f&m-@ i /IJ,,_.{ (vi)
(vii) Eniist some sources of back ground ga fatior. \ b g Al AL Fashakn S (Vi)
{vii) Define nuclear fission. Write its equa@n j e Figt o S K (il
4. Write short answers aﬁny five parts of the question.——...  (2xS e linfie Sl 4
{iy Define magmfymg pewer‘ & ;;LJ buc' (i
(i) Whatis meant By h:f(gtal intenal reflection? Write ts co '1i<§@ } & s sV mfﬂ" Jads (i)

(iii) Under what eaﬁdmonkwnll a co\«ergmg lens form.a Virliz :mgge?‘j SettBIS gued Lt po At i)
(iv) Stale two reasons, why eféstrfcal poWe{ is transrfiitted 4t high vgl/t/agé? te Qe esiiun z‘.»‘.&&” kb A0S Seahron (iv)
(v) Why a transformer cannot operate on g e S UL K STyl (V)
(vi) How the electron are deﬂectedby 4 magns ol tedned Ja 3o f S LB (Vi)
(vii) What do you understand by dag;tai‘a\nd analog“tfe quantities? Sl e i S JF5 (i)
(vili)  Write the fruth table of NAND gatée agd gkéw its symbol. EX% 4 b’wmg_"'ﬁ Fs2§oINAND  (vili)
Section A1 e
Note: Attempt any two questions from the following: (9x2=18) N2 PY {1 TS NP | PR &
5 (a) Define specific resistance and discuss the factors (5) Sl i risiiy oy S /JJ‘,'J* il (N5

affecting resistance.
(b) _A point charge +2C is transferred from a point at (4) 213350e 2 £19 L B 1 In100 A 81y L 42001 (&)
potential 100V to a potential 50V. What would be 5 : T
the energy supplied by the charge? il a3 G S et 1y
6. (a) Whatisintemet? Expiain services of internet in our daily fife. (5) Lol i st cVecp (L) 6
O b ans Tt ) oY b
ML S ot il ol vl i ie M p S d (T
(b)  Asound wave has a frequency of 2KHz andwave length  (4) 2 1 5 ie 2 GF 358 g 2KHZSHE S S gt nfl ()

of 35 cm. How long will it take to travel 1.5 km?

30-10-A

s L LS Lati¥



WITYONC| RollNo 830 (PartIl) /22024 PaperCode |7 |4 |7

(For All Sessions) .
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. : wp~2~2Y
Time:15 Minutes Marks : 12
Note: Write answers to the questions on the objective answer sheet provided. Four possible answers are
given. Which answer you consider correct fill the corresponding circle A,B,C or D in front of each
question with marker or ink on the answer sheet provided.
SIS Sa e 3L S s f Y2l s DOBARMZ R AL Sy e s
1.1 The correct relation between focal length and e P o nilp s L g S Rhan S 5
radius of curvature is: ‘ ; N )
R R . R
@  f=7 ® f=3 (©) f—,—c;; O™ f=R
\
2. Capacitance is defined as: ;’/ \l \ adwﬁw FEE ‘e 2
B Q \ . K
A) C=V+Q (B Ew=y //(C) i—\QV ) c
3. The voltage across 62 resistor is 18 volt. The %(/
current passes through it is: ;/ (’%Jic'd)mi’gi ’ \v o0 3
(A) 3A (B) 12A { \(C) 4A (D)
4. Two resistor of resistance 6k and 12kQ are e 3 },JJ, 7 6 & 15 @ KO k. 4
connected in parallel across a 6 vqlthatgery Tl\l\ex =i - tﬁ«’! ]
potential difference across 6k§2’ﬁ331st0r 1S \“*-“*' r‘""'“" f) Gl 6kﬂ*‘r;y’
(A) 2 Volt ®)/ 4 Vot \ (©) f (D) 12 Volt
5. The direction _of induced elrlimg circult is in! ¢ (_ %{ /)_/vﬁ PSS perlifiSio 5
accordance with law of conservation of: \
(A) Mass /M (B) (fharge (,/}: oﬁimtam (“’ » (D) Energy @i
6. The process by which electrons are em1tte<§ bj A ‘S%L'lk'(u st Fi el ¢ SRS Ka g 6
hot metal syfface is lén\gwn as: A P
(A) Boilifig ™\ \ Z (BY Evaporation ozl
: N / & .
(© Conduction\\ \\\ : f/’ (D) Thermionic emission L A
! . s
7. The brain of any cmn\mter / it (‘/ /‘,;,/f sf( 7
(A) Memory (e (BN Monilor~2 %  (C) Contolunit  wyi® (D) CPU. gy
8 : b ; “ e 238, o 2.2 8
* One of the isotopes of uran1§m v The :c‘..:wd/'/f;,;ut?iﬂw‘g U Ty
92
number of protons in this ige
(A) 92 (B) 146 © 238 (D) 330 g
9. The charge on alphg parrfic_le emitted during the Ce ey KA 1rd st Y L TR
phenomenon of radioactivity is: =
(A) +e (B) +2e () +4e (D) Neutral J/#
10. Waves transfer: =u.’.7l3/ J‘" s 10
(A) Energy g1 (B) Frequency U": £j  (C) - Wavelength 3y, (D) Velocity (Fus
11.  When simple pendulum completes one cycle in I i =
2s then its time period is: ks _{ww’jé'/djjgvgwié”')’%d{g et
(A) 0.5s (B) 1s (C) 1.5s (D) 28
12. The speed of sound is greater in: :ﬁ__ugﬂjg‘f T 12
(A)  Air Sin  (B) Water g (C) Metal 2t (D) Vacuum s
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Section - | o
2. Write short answers of any five parts of the question. (2x5=10) .g.f/j..:.yzﬁ?ﬂztéga.df by
() Define simple harmonic motion and give one example. .q,uc»,g,,nﬂ i Al kAt )
() Whatis reciprocal of time period? Define it. v Jurteyelivizfe (i)
(i)~ With the help of diagram show the kinetic and potential energy _ /i A daal mr WA SIS B 2y P S s (i)
values at different positions in mass spring system.
(iv) Define electric potential and write its unit. -u:” LKl 2 ‘}”S;J Ay ()
(v) Whatis S, I. unit of capacitance? Define it. Slw UefesyS| B o"( {v)
(vi) Where and in which form the energy is stored in a capacitor? ?.««rJy, SilPS MU GAE af:ﬂ (vi)
(vii) How electric current is produced in electrolytes? Myag/ S A (i)
(viil) Diamond is a good conductor of heat but it does not conduct electricity why? v,JrﬁmQ{ i c_u"qf G Pilgensi g (Vi)
3. Write short answers of any five parts of the question. (2x5=10) / (\\ .Efjuu;f)%" Lvtét;.,df 3
(i) Whatare stethoscope and tuning fork? \ * VS ,’jmt._,;ﬁf‘“ (i)
(i) Define reflection of sound. m— oy u’m sl i
(iii)  On what factors does the loudness of sound depend? ,4"“"\\ ™ \\ 1'2.1" ﬂfr SN A s (i)
(V) Why micro waves give very strong signal? / ( \ \g * i ?u‘fdfﬂr/'c o (W)
(v) Write two uses of internet in daily life. \m__,_,, /iw%_h ':u:(ﬁc;‘a s (V)
(vi) Differentiate primary memory and secondary memory. \\ S e $ Ay (Vi)
/"M‘w ‘H\" -" S—
(vii}  Complete this nuclear reaction. D e 1;3,0 1942 ::I;Zgy ‘5/_;[}"' S A i)
a‘ -~ T, 54 0
(vil) s it possible for an element to have dlﬁer’?n})’types of atoms{r‘ Explain. \ \;Zd,mér ALE S Loy (i)
4. Write short answers ot any five parts ofthe question. 1 i % ey f..,uf/” LIz {,t.;w’ 4
{ij Define the Radius of ,Eurvatuae i ;’ e e fo/ STk )
(i) Whatis the dlfference between m@I and virtual image? / e/ WVUE S mmeJ (ii)
(i) Define fa;slghtedf}e’ss huw itis cor?er\ted? Sty m; J” S-g e (i)
(iv) State Faraday's law of eiecti*smagneﬂchduction. s LS edo¥ r.C»f?':/-astQ.,s rRy
{v) Write the names of the faétors}i{g\cting the} ’m. f. ,_,/ ’ rL‘_Ji!Lu&. BB S L B {v)
(vi) NAND gate s the reciprocal of AND-gate P S erlore e ey ()
(vif)  Draw the circuit of OR- gate and alsc%r{te s truth t;b!e S JE it e S § (L OR-gate (v
(vil) Whatis the difference between analogue d |<ﬂ§| quantities. J uy.d)'uﬁuuwd’f-*imf vkt (viii)
Section - II / (o
Note:  Attempt any two questions from the followmg (9x2=18) "y /’c.'.F,I.P.Lc.ulilfugéfc.uﬂdibu-(.‘.«)
B R i
y applying a potential difference of 10V across uctor, & 2 5AG¢ 4 alovw/; i b »
S‘b'ira?r?éé"fi?n“tﬁé*%i??e?’%“8“n{fn5’t§‘;"v“‘”"“ g oud e o og i forre /wrw
6. (a) Write anote on component of computer based information system. (4) o //J"‘ ;f J_(’ ket )6
(b) A marine survey ship sends a sound wave siraight to the seabed. it SR L A B 5 g S rirosf ipdEeigg AL ()
s ot s . Mot WV e S ot i ]
(5) S (* b JM/‘
7. @ Whatis meant by total internal reflection? Wite its (8) g Seotnf el e s Soksi Foute i e “W A 0.7
conditions. Explain it with the help of ray diagram. =
O e c“é’n‘é%’é?é‘ér;”c?é?é‘?h%t;’r’&?r‘;%%’f.1&2&fl"tﬁﬁi’é‘?éha"a?;‘%‘%a%i} s/ 10 <bush piigid i ()

_J/(Jl” VS)CJ»u'ufH;bt:zﬁm’bﬁu’mu’z_rZ.ZOV
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Note: Write Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, C and D fo each question are given. Which
answer you consider correct, fll the corresponding circle A, B, C or D given in front of each question with Marker or Pen ink on the answer sheet provided.

1.1 The unit of spring constant is: e eI f e 1.4
(A) Nm (B) N ) Nm2 . (D) N
2. Waves transfer: A0S g 2
Wave length

(A)  Energy@s  (B) Freduency g£5 (6 (D) Velocity s

}J{’:

3. The unit of intensity of sound is:

A) Wm- (B) Wm'  (C) Win2

4.  At25°Cspéed of sound.in wood is: 4
)  2500ms®  (B)  2000mst  (Q)

5 The radius of curvature of a converging mirror is 5
20cm; Its focal length will be: v ‘
(A) 10cm (B) -10cm:

6. The electric field lines are: : 8

) /Cr.’fa/ub{l (\B/)

- Always cross each o

(A)

ther in the region of weak
field

yds 4./;3.._(5;/! Lwé—"i&" ¢
MRy R |

(A) 1C) Gold 4/ (D) Aluminiumyz="s

8. The unit of § e LW e 8
A) am= (D) fi.m

).  The tum rat ISl 52 fi 9
™) © Ns=1oNp ) vs"?

A ,_ 10 : 10

0. The out put of Nand gate is “0” when: 5 ;ﬁfn“o”;g&,f $ol3s 10
(A) A=0&B=0 (B) A=1&B=1 (C) A=0 orB=0 (D) A=1 orB=1

1. Which of the following is not processing: e Ly gl A

: — Manipulating 27 Calculating >

(A) Arranging tses '(B) mp;;ng ; i :,jg, " (D) - Gathering t./11

2. The safe limit of radiation absorbs in a year s e wbP PSSl A2
®) tremed ®)  2reme2 € 3reme3 (D) 5remp. 5

25-10-A*
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Physics (Subjective) (For All Sessions) ﬁ“) }O/ )23
Time: 1:45 hours (GROUP-I) Marks : 48
SECTION-| Jio
2. Write short answers of any five parts from the following:  (2X5%10) s/ Febiz & Lz @a.é/ ELits 2
i. Define frequency and write its unit. J/ ,j_‘,-z,,;uff o ,7‘,;'0)' £
ii. Write down two taws of reflection of light. _uf’ L L‘_}fw-,t;j,, i
iii. Explain OR operation with the help of truth table. Lol YA F IR A i
iv. Whatis wave motion? (,'(‘_J afFry NV
v. Whatis refractive index? Write down its formuia. S f et A TR
v Findvoimeperd and fequency fasingle | kg Gmaei L0r
vii.  State Snell's law, write its formula. ik S e fSusm L Vi
viil. What do you mean by restoring force? i e gdfigds Vil
3. Write short answers of any five parts from the following:  (2X5=10) =/, 7 ;ﬁ.:z@g PRIA T
i. What is difference between the loudness and the intensity of sound? S u‘-f‘-’ ST
il. Write any two uses of ultrasound. ° Jeine Jfksaph i
ii. Describe the two factors on which a safe level of noise depends. WA
v. Define the electric field lines. S
v. Draw the electric field lines for an isolated pos 00V
point charge. L A :
vi. What is the impact of ICT in education? g i
vi. What is the difference between data and processe \ ‘ ;,,u;, 5 Vi
Vil Why optical foer is more useful ool forthe & s kmiirains R S i
communication process? i
4.  Write short answers of any five p Lazl ig-:.éf Sl 4
i. Define e.m.f and write its f - Y N WU
i Draw symbol diagram of ariable ) Lot S S i iy
iii. How many ' { ?wLmTu,z"fu.'JﬂOOO;l j;.{l il
jv. State Lenz's S udidd WV
v.  Write two fa e Sl i wimd g figiepn v
vi. Whatis the : .. Pq_!‘fuﬂMBq J,1Bq &,;!_’,J!{;_,r»,f_g Vi
vii. What is meanfby rac ents? ot ey, Vi
vii. - Find the num UTONS I _ 7 e 355 ke WU e Py VI
the nuclide d ’
e
Note:  Answer any twosjestions from the following:  (9x2=18) i fehizlatrnS i
5.(e)  Jinat ls meant by ttal itemal refocton? DIaW /ot Pfn-ufb P e edtBdadi @8
(b) What is wavelength of the radio waves transmitted by /a3yt b i Wik 80MHz ks {t)
e b | e iGN geal ‘ ';3,;108,,;;@5@_,,,,‘{;_,1053 1o
6.(a) Whatis flow of informations? Explain with the heip of diagram. /.. ,, Jf" Sineolosf e e g Lo (@)8
O [t e ichore e lerlalsonais (i 0B Lkt O
‘7.a) Whatis electric motor? Expiain the working principle of D.Cmotor.  _ s S Jroi¥i /rg‘g ;,U_U;T‘Lg;;_(;g, (a).7
(b) Cobalt-60 is a radioactive element with half-ife of 525 years, i Ji-26.« Ji-5.255y 5 S60- 2, Sy, (0)

. v - ? -
What fraction of the original sample will be left after 26 years? W2t 3o J1560- A .
26-10-A-
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answer you consider correct, fill the corresponding circle A, §, C or D given in front of each question with Marker or Pen ink on the answer shest provided.

14

10.

The index of refraction depends on: ?4_rn4u‘3tisvu=f /':‘;J.JTJEZI
(A) Thefocal length ¥/ (B)  Thespeed of light 4Ly
(C) The image distance 4&555 ] (D)  Theobject distance &

The working principle of photograph enlarger is the samé as:

(A)  Siide projector 2G5,k s  (B) Cameras, A (C) Telescope.
Two small charged sphere are separated by 2mm, which of
the following would produce the greatest atfractive force?

(A) +1q and +4q (B) -1q and -4q
The unit of e.m.f which is equal to voitin S- system is:

(A) Jet (B)
When we double the voltage in a si "
we double the: lf:»(ﬁ" -y /ulm.;_fl(f..rg

&
(A) Current {B)
The direction
with conset

(D) Both A and B

e Gndbr Luds oS por i f1hegin
(D) Energy &/
?-','-J-"LY l,_%_;,f‘f.‘e .-*/_f b} 7\1/ Jis1 uf;f .u;uf

()  NORgaes2t (D) NANDgates 2%
-44}:‘7 -—@.’}/,Jf vl

(A)
Which of the following is
(A)  Amranging b Manipulating /%722  (C) Caleulatingt/yl> (D)  Gatheringt./if
The half life of a certain isaldpe is 1 day. What

is the quantity of isotope after 2 days? tnd a3 STl i, kgl SRS AT

Which of the following characteristics of a wave is independent of . 5 s "
g o 3ol e 4ol S Rt Gt J_i,:z—s,tdi..uﬂ

the others?
A Speed 4» ()  Frequencys'£;  (C)  Ampitudesks (D)  Wavelength 5y,
The number of vibrations of a vibrating body in one second is called: AN PSP A LS S L

(A)  Frequency Jf) (B) Ampiitude 3% (C)  Vibration %15 (D) Displacementu=¥"3

For a nomal person, audible frequency range for second wave lies between:  :2_sv.oif (£ Gl J5 L LTt

(A)  10Hz-10KHz (B)  20Hz-20KHz () 25Hz-25KHz (D)  30Hz-30KHz
271 10_A -

1.1

8

(A)  One half Jng_nu’;T (B) Onequarter {zbxfizli  (C) One-eightJé.gxﬂ@ (D) None of these ¢/t

A0

ek

A2
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Physics (Subjective) (For All Sessions) _
Time: 1:45 hours (GROUP-H) EW }0, 927 Marks : 48
SECTION- il
2 Write short answers of any five parts from the following: _ (25=10) u/_/jg.yz/'faz:é&‘,é! Sden 2
i. How can we see e prined words on a page? suE b by L i
i, Draw a ray diagran of virtual image formed by plain mirror, L St i§gndnéa N—*uf' i
ii. How does the thickness of a lens affect its focal length? te 30t pSAl#BSiSoderdy i
iv. An objectis placed 6¢m in front of a concave mirror that has focal F vl REnPSiSS /cé"z.‘ £ N
length 10 cm. Determine the location of the image. ‘ AN Y13
v. Define wave motion. oS chfr:: v
vi. Whatis meant by restoring force? tedpfeud i M
vi. Write names of any four lggic operations. | St L AT Kldgs M
vil. Define Boolean algebra. :: il
3. Write short answers of any five parts from the following: (2x5=10) 3
i. Define capacitance and give it§ Sl-Unit. i
i, What are any two hazards of stafic electricity? di
iii. Define quality of sound and give ap example. i
iv.  Write down four characteristics of sund. \@}kr"'h v
v. Draw a label diagram of production of\sound from a I R’
vibrating tuning oo e A "{;{

vi. Give any two advantages of e-mail. We ” Ky i
vii. Whatis intermet? ; ; S a2 fl il
vili.  Is electric intensity a vector quantity? ¥ direction? Y AN I

' : Ve e £ g £
4 Write short answers of any five pafe ) & Uz Lanbiedf bdits 4
i, Define electric current and its unit. \ o fSeiSnas s SE
i tl'f1§1eq '32 aredfio in series LIS S Iuns iRy AR
ji. Drawala or,* e pACanlp i il
iv. Is it po P, o B/ v
Expl a?n befly. ’} LM _wénﬂﬁf) B Lo LY
v. What s difference betweenigisi 'z icMass number? te L AN ALl
Vi Whatis an electron voit? Exgiin briefl z LA
vil.  Ifa transformer is used o Supply Giodel ain, which \ 7,080/ Kol £ Lilet it flp 2l el i
yrent 08 A ¥ ol of i iy g
m&m%’g V,Cﬁ VTS e MGl ithob s Imie s S
viil. What is carbon dating? - tei e Btk Vil
SECTIOH o
Note:  Answer any two questions from the following: (9x23¢8) G Fehzlatrnf 2
5.(a) Whatis total intemal reflection? Expfain with diagram. Lo sLPre S sisin S ufs (85
b) A simple pendulum completes one vibration in two - - i T PNIN:
B e Eouts s lengg where g=10 ms? grtoms S fbng s AP srd e ©)
6.(a) What is meant by second e memory’ Sl L3 s Bt ote g he (8)6
( ) ha tha mag¥1etlc d'lSkaa'ly'ld bond digk TW Q)’ul_r YL’)‘J&J,U&J,'J’& pArE /Lfr;.du" G ( )
(b) A sound wave has a frequency of 2KHz and wave e -135cmus2KHz2 a8 £ S (b)
length 35cm. How long will it take to travel 1.5 km? T L i S Lok 5k;n
7.a) What is meant by half life. In one sample of haf fife bl 523 Lol ¥ <01 Juon (@7
| W how the remainigg atoms are calculatgd? i u.suﬁd"jq.ﬂ./%fw A "
, U LS 57
(b) A step-up transformer has a tum ratios of 1:100. An SIS A1 11002760 et i tg B
alternating supply of 20 v is connected across the i enbliapei Ll
primary gﬂ. gt is the secondary voltage? /e & widETL iz A L s et L2

28-10-A-



) [ R Y L]

’ Group- I-..Af o
Physics (Objective Type) Lp-61-22- (% /f)ujf
Marks: 12 Time: 15 Minutes 215 =3 12:4
W con Wz e L4 5D,C.B A_,ui,médly;f JEdizL3 /*u”d;_,ufiuusyru o
,w/a._wl.«Ju-f-L/ e S 3e AL D L CB: A sz L A d601n
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to
each question are given.Which answer you consider correct, fill the corresponding circie A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. In a vaccum all electromagnetic waves have the same: :Q?G’:J-?..,_ﬂjgs v@g“:}?i(l}ufrx,’; A1
(A) Speed i {B) Frequency u"[/ (C) Amplitude 5« ’a"ff (D) Wavelength i@:
2. The speed of sound in liquid as compared to gases is: ¢_dy el Ul 2
{(A) Five times U’é& (B) Fifteen times l;ﬁw; (C) Two times 6% (D) Eight times eFT
3. The refractive index of crown glass is: :%bnﬂl}.( SEkgs) 3
(A) 2.42 (B) 2.21 (C) 1.66 (D) 1.52
4. Five joules of work is needed to shift 10C of charge from one Sz b2 S /»:.J,Z_,gf Liel10CL 4
place to another.The potential difference between the places is: d :U"‘Z"’;’uw:cf_.:iw»u:?»ul_g_t'gtf
(A) 0.5V - (B) 2V () %\o (D) 10V
5. Si unit of electric intensity is: é& ‘e tyS. IKu"}' S 5
(A) Nm™' (B) NC' U@) Nm2 (D) Nm
6. Electric potential and e.m.f: &’ ; LS PR 6

(B) arethe different terms 7/ /Léni%
(D) arebothBandC (C)s/(B) s
e '_{J:f’..‘ab)g..g o
(©) 3.6MJ (D) 4.6MJ |
f in a circuit is in accordance with ?g_aﬂ&lbfﬁuiﬁ'u/ L,C_*//;/J emfiytl 8

(A) are the same terms u‘u’ziwo"' .f o
(C) Have the different units
7. 1KWh is equal to:
(A) 1.6MJ
8. The direction of induce

conservation of;

(A) Mass 1 (B) Charge &b (C) Momentum %, (D) Energy &/

9. A device which is used to increase or decrease g*:Ll/ c._tydk*’léi/ il :Mﬂ/ i‘»AC:’J L9
the AC voltage is called:
(A) Transformer /G717 (B) Motor v (C) Generator %7 (D) Voltmeter ks

10. The particles emitted from a hot cathode surface are called: ZUIZ-LQ’CL)!"QJGC.—(J:/J 5#"-?&)%_&4' AC
(A) Negative ions flf:’c'g' (B) Positive ions )"{T!:Jg (C) Electrons ‘/'l}gf (D) Protons sy

11. The brain of any computer system is: :c‘__f,L;(((}/}gﬁf:J( S
(A) Monitor <+ (B) Memory (s
(C) CPU U (D) Control unit =29

12. Isotopes are atoms of same element with different: dc".t'ﬁjgsl(j%pgi.}f AL e MG L e T A
(A) Atomic mass LAt (B) Atomic number L ¢l
(C) Number of protons wwm (D) Number of electrons ;f}id/ﬂ}?l

25-10-A-3% -
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Roll No. St (For all sessions) J/
5 (du) b

IJ,/)
8:4f 3.0 & 14520
10=5x2 Qi Gl-22- 4’.40/"1,1;1 g/lc—‘jf‘;‘fgf)(//) -2
ot /JLJ,LJ/@ i 1KWh=3.6MJ S/ Skt i o bc'c.li.gﬂﬂr_(.ﬂﬂu( Wy i
“c,u"/cffuﬁ.a/.ﬁu" ATM i fe /Lf:,;f;hfr’ v ?L)’/gGMRl v
//U:@ubl/fb’ Ld;(ﬂ)VL e il 8 b(//rc':_wldﬁ/uf/bﬁcdit vii
10=5x2 mlif’zfl/l ét:..éfc,‘;‘hu, -3

jﬂwuwfwuuf..ﬂ/@ybiv/ i e t,_/‘J.,uwwéjﬂ i u‘@wﬁmé&/@(dff gy
e Jo AL GO Vi e b ML e;{.»/o’ & u‘“dw&u&_;nguﬂu v
Vz;u/l#fjl//:ﬁdzf’dz,v@:ld/f § Ay i -4?%2: £(/ //wwmf vu

&y A ét e L Sits 4

w’%r/bb’u’lulu’/..ﬂ/’&:tg(/' il u‘ﬁuvdmﬁ%.ufmw i , J‘JJ/K_‘/ i
A—DO—x=7 u"{)’&/(d"’r_JJJL’w, v

) -J/Jb:/‘}?u*b(d/lwtfu/;ﬂgagwwﬁulu‘”c v

-u’/u/uf/“‘f/vwl ey et L p IS ure i

_ng=10ms?sl % 1GUJJL5J/’(L,«/%(WH:#J/ L1 vii
?c.tn/wf/,y‘,t‘rmi £ sl e ﬁ’du/; Vil

L{/}u&’i&u“‘)’”‘—dl(é—(;‘})bl) u)
04 }{ /f ...»u,&;/ lc.va 226-£1Seslp eIy (3H) 5
05 _,Luuwwug’u/ 5. sbdk ,1,» 7 ./LULQJl el 1oow‘220v/_J-J/‘au )

10=5x2

18=2x9 (922

2RO, b A el K
04 Jajéz_fﬁffmuﬂéu MY W52 .6
05 J‘//(}”J Jd/idlﬁ)&/xbu' u*z_/d)a,Ju’JO 1N:Q_/».ﬂu? 6L 5cme 71 ()
<o -ur:fé:u&bLZcmu
04 Ll e SHMS AL E Sy ety Lo A8k i .7
05 1330 Pt Lv@ Jﬂuf/J/ Ly PJ/ SEEL()
Physics (essay Type) Group ’o r all sessions)
Time: 1:45 Hours @ Total Marks: 48
Section-I
2. Write short answers of any five p the following. 2x5=10
i. What is the voltaic pile and veloped it? ii. Prov hat 1KWh=3.6MJ.
ji. What is meant by electri ?Write its formula. iv. What 1s meant by MRI?
v. What is meant by mu uction? vi. How does ATM machine read bank credit card?

vii. What are sources of background radlatton from environment?
viii. Write the beta( /) decay process of' C by equation.
3. Write short answers of any five part from the following.
i. Define quality of sound and write an example. ii. Enlist four uses of capacitors.
iii. Define Coulomb’s Law and write its equation. iv. What are Browsers?Give their two examples.
v. Define pitch.On which factor does the pitch of sound depend?
vi. Explain application of static electricity with an example.
vii. Write the names of components of (CBIS) computer based information system.
viii. Differentiate between the primary memory and the secondary memory.
4- Write short answers of any five part from the following.
i. Write the truth table for nand gate.
ii. What is mirror formula?Write its mathematical form.
iii. Define the power of the lens and write its formula.
iv. Whose gate symbol is this?Write truth table for this gate. = A—D0—x=4
v. What are the typical values of voltage and current for thermoionic emission for a fine tungston filament.Explain bneﬂy
vi. Write only names of types of lenses. Differentiate the principal axns and optical centre.

vii. Find the period of a simple pendulum 1m long where g= 10ms™.
Define damped oscillations.What is the effect of damping force on the amplitude?

2x5=10

2x5=10

viii.
Section -I1 9x2=18
Note: Answer any two questions from the following.
5, (a) What is half life. Explain it with activity of Radium-226 Also draw a graph. 04

{b) An electric bulb is marked with 220V,100W. Find the resistance of the filament of the bulb. If the bulb is 05
used 5 hours daily. Find the energy in Kilowatt hours consumed by the bulb in one month(thirty days).

6. (a) What is meant by noise pollution ?Write its effects and methods to minimized it. 04
{b) Two charges repel each other with a force of 0.1 N.when they are 5cm apart. Find the force between the 05
same charges when they are 2cm apart.

. (a) Define Simple Harmonic motion. Prove that the motion of mass attached io spring i3 S.H.M.Oraw diagram also. 04

e |
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Group- II-...A/r

Ph)’SICS {Objective Type) Q"P"’ -0 (5% /’)u//}
Marks: 12 Time: 15 Minutes @15 =3 12:4

W e Wz e L 5D, C B A_,Lri,mLJf«ﬁqf"/’/d sz 5 w.,wé_,my(v L7

_J;/c;LﬁLJu’L/ S ee FusLD L C B Asze bl A fbdin

NOTE: Write answers to the guestions on objective answer sheet provided. Four possible answers AB,C &Dto
sach question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
sach question with Marker or pen ink on the answer sheet provided.

©

1.1. Waves transfer: uw/ J:’; 1.1
(A) Velocity s (B) Energy (/!
(C) Wavelength #%» (D) Frequency 4/ _
2. The unit of intensity of sound is: P é’:""ld/)lﬂ 2
(A) Wm~ (B) Wm’ () wWm' (D) Wm
3. Snell's law is: ‘gu;’GKJf 3
siny —_ _sini .
W) "= n ® "= (©) <i =
4. The S.1 unit of electric field intensity is: {&{\ c...AS 1§ (j"i A#J /ﬁf 4
(A) NC~ (8) Nc’ @ (D) Nm
5. Capacitance of any capacitor is equal to: %g a_df/l/u’ u"{f /"ru/ B
w -2 ® c=2 Q ey ¥ o L
vV 0 O ov
6. Formula of em.fis: ~ e K6y 6
Q w w
7 R ®) K3 oy e () I
7. The unit of electric power is: :‘a..*/';jK»gJ}‘?! 7
(A) Ohm (&l (B) Watt =15 (C) Farad 4i/7 (D) Joule 2
8. For an ideal transformer: :a‘f AT L B
(A) Pp<Ps (B) Pp>Ps (C) Pp=Ps (D) Pp# Ps
A E X '
9. Which logic operation is formed by this gate? B ?‘atm)’ bu‘”—ﬂ.@ ULJJ/;,J J .9
(A) AND (B) NAND % () OR T (D) NOR .t
10. Boolean expression of NOR gate is: :c‘_.puugb.&/ﬁt 10
(A) X=AB (B) X=A+B € X=A+B D) X =AB
11. Number of components of computer based information system is: :g_:fﬁp(fizféf'/ Lﬁ‘/wu:'/’gf A1
(A) 3 (B) 4 (€) 5 (D) 6
12. What happens to the mass number of an element which LSS Py £/7 wﬁwﬁ.{ oz 42
emits one alpha particle? Ay [
(A) Decreases by 2 ?LL;,%H’ 2 (B) Decreases by 4 fé,tg:f(u
(C) Increases by 2 i ba2 (D} Increases by 4 €ikzi4
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o Sisp el (For all sessions) .
g/ (den Jf/

48: ,{J' ﬁ))"}o & 14520
R WG 2,220 iz Lz bl tdits 2
3 ..ufﬁ obl/u(u’ ’Jﬂ.’:fié!j“"{;f'g’d/uj}:’: i -éﬁ%/.d__l/u&dﬁnu: Jd -’4fd LKl & ..41/.’.&52..//'.0' i
-%ngbb‘ffﬁédﬁ[c’ 27C()6° v ?4"..(:(&/.6;%05/‘//,%/‘2 v _é:_y/‘"&j]l‘;' ﬂf.@%}glﬁz_ﬂﬁz’ v
?:‘.rtgt}xu{g?:.)Jyg)».&;‘fyuzgz,/erJ g”u:_»f/.,g vii e SRS G i
10=5x2 | —opa B i fe Sl ditn -3
-uf@l,vt}u‘,(mnu/.gﬂ(v_vlf i 4)_‘/..&!/7&5;’&'/?&@;;'(%0?' i ?.7.,Jnu[ufjgc,;uﬂfu»/;l,ﬁ{u?;f i
v%J/'gu:u,;v,fduiw{/}ru/mw}‘: v -eﬂdb,,JJ|?+g6;5:4 v -ﬁc&w&ﬁ%ww&f v
véq/rkgﬁgfw;f vJuu,vu:'t-‘ru’Lt:s’ﬂJ’m{! ConlCaCu sl il gz fkar®us SIS Lrrgintzd Vi
10=5x2 L by bl tditn 4
?‘gam;&]g’-fii_fg}g.uﬁv’m;d/ Jii ‘-’%)f/k(c_..}/'/:l..‘// i ?%J}g’ut// ~'Jj'z6r i
A a sz b S G 2L NOR s LSS v Al (b f§HEeons v
AL /M&UVJJ%}WLE%M‘JX/.«& U;LQ: Viii -é?&kd/uf‘fgf'.ﬁldﬁ-‘ st Skt Vil

r».»'o .
-(.[/Q/.%WL@IIV”;J{::-JJ_ B 1O%] W
-4@9,;126‘%( 5Lfc,gmuu=5»£ﬁ:d§/_(_ﬂ) 5
e, L/Uc-r»tu:.uffézzovu2ov.,&,g_‘¢;4ﬁ4‘f"’bo’ 95 () ¢ brio? 150W gk 2 ()

] . . J /:—-?U;//)’d.l)‘cg’
-‘g;w&ﬂr@/gﬂq/aegg&.q/ ‘ﬁlﬁ}?u(.ﬂl) 8
05 e A e e T
04=2+2 S GG JMG:L,«;C:.‘.’;LJL;{ .7
05 ?Jn&f&g $g" 45&»' 4.9t Kf,ﬁ;&%% Xl :‘..O.ngdlfl\f f:@fg]gﬂhﬂ_(v)

4 (¢

Thysics (Essay Type) Group-1I sessions)
Total Marks: 48

Time: 1:45 Hours 0
O ) Section-I

ke following.

Roll No.

18=2x9

04=2+2
05

04

2. Write short énswers of any five part fr 2x5=10
i Define electric power and write i i Differentiate between a cell and a battery.

iii. Define Fusion reaction and equation. iv. State Faraday's Law of electromagnetic induction.

v. What is the basic differ;g\é etween a generator and a motor?

vi. Write the ¥ -decay(Ga decay) process by equation for Cobalt ,, Co®.
vii. Write the causes of background radiations.
viii. In order to measure voltage in a circuit why is vo

3. Write short answers of any five part from the following.
i. Why the voice of women is more shrill than that of men?

ii. Define information and communication technology.

iii. Define Coulomb's Law and write its mathematical equation.

iv. Write down the names of computer based information system parts.

v. What are Browser?Give its two examples.
vi. What is the difference between ultrasound waves and audible sound waves?

vii. Write any two features of computer "Word" processing.
Draw a circuit diagram for three capacitors C1,C2 and Cs connecte
equivalent capacitance of these capacitors is calculated?

4- Write short answers of any five part from the following.
i. Differentiate between concave and convex mirrors. ii. Whatis meant by crest and trough?

ii. Name two factors which can enhance thermionic emission.
iv. Define damped oscillation and write its one application.

v. State the laws of refraction.
vi. Draw a symbolic diagram for NOR gate and write its truth table.
vii. Differentiate between analogue and digital electronics.
Derive a relationship between velocity, frequency and wavelength of wave.
Section -1I 9x2=18

Note: Answer any two guestions from the following.

itmeter always connected in paraliel?
2x5=10

viii. d parallel to each other.How the
2x5=10

viii.

5. (a) Write two common radiation hazards and the precautions against them. 2+2=04

{b) An incandescent light bulb with an operating resistance of 95 ) is labelled as “450W" Is this bulb 05
designed for use in a 120V circuit or a 220V circuit?

8. (a) Define alectrostatic induction.Prove with activity,attraction is not sure test. 04

05

{b) Calculate the intensity levels of the faintest audible sound and rustling of leaves.

7. (a) Indicats the objectives of cathode 13y oscilloscope. Show its different parts with diagram. 2+2=04
O O .. Amn o an aatranant The pariod of the pendulum 0&
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Roll No. o Sosbtart (For all sessions) Paper Code| 7| 4| 7|5

- Group I-u)/ .
Ph)’SiCS (Objective Type) ﬂﬂﬂ 4”1' (Lﬁ/‘")Lf(?
Marks: 12 Tine: 15 Minutes &#15 &3 12/

/.Jufru’f{Léde?r O Wiz L DA,CB Auuf,médfy,-g‘f QLAY /fufd,,uféumf(v <

u,/;,ww’w/ b sk UsibED L CBe Az lL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.YWhich answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

:ﬁfn'O'cf,dﬂi’JJxﬁg 14

1.1. The output of NAND gate is '0' when:

(A) A=0 and B=0 (B) A=1and B=1 (C) A=0orB=0 (D) A=1o0rB=1

2. In computer terminology information means: :%Vwﬁﬁuﬂutd)b:}},f 2
(A) Any data Lty (B) Rawdata &}#b
(C) Processed data  Liizy (D) Large data &jmlJ

3. One of the isotopes of Uranium is 23U , the neutrons in this isotope is: u’:\;«!;"/'!'dl_c‘.. g ..__J/LﬁK(LJz 3

r‘_JfﬁJiLf'xI

(A) 92 (B) 146 - (C) 238 (D) 330

4. When Uranium(92 protons) ejects beta particig,now many J‘/’i}g £/7 C,J(qﬁjtv(n’qu)( W2 4
protons will be in remaining nucleus? @@T ?L,(é_(auu)'/fp’
(A) 93 (B) 91 (C O (D) 89

5 From which of the following you can get inforination a!rr@ ¥ &ﬁle L)’ﬁ..;fa.‘,/c.uijj,gzy 5
everything? "‘-‘ujif
(A) Book u._,Cf (B) Teacher J{?f@@% (C) Computer /‘;;,I (D) Internet  22F

6. If the turn ratio of a transformer is "10'}t dans: :?:f‘lo.:.uf’gfuu‘éépw'l}ﬁ B
a) N, =10N, (B) 1<,,> € Ny= N%/O o) Vs = V/m

7. One meter long simple p time period|is: e byt ﬁﬁt?ﬂ;l@»:vﬁdwﬁv{! 4

(B) 2115 (C) 1.89S (D) 1.888

(A) 1.99 S
8. Speed of sound in air at 0°C is: g..dml:inil;!’{O"Cu!w 8
(A) 376 mS™ (B) 386 mS™ (€) 231 ms’” (D) 331 mS”

9. Pitch of sound more depends upon: :.T_,t:ﬁo:gjjuﬁ(@&uf 9

(A) Frequency 5/  (B) Timeperiod | Lsft (C) Wavelength 2%, (D) Amplitude 32

10. Capacitance is defined as: q/...y/Uu’fu"'/ 10
(A) CV (B) Q/V () Qv (D) v/Q |

11. The unit of electric current is: f :.:_--..ug!&fJ/".jf A1
(A) Coulomb ot (B) Joule 2 (C) Ampere (D) Watt s

o FPolls b Sl GE 12
Stationary positive charge c:,C-,/.[_g;’:ch/( b
Magnetic compass .:.Jlgv@fg'

12. The presence of magnetic field can be detected by a:

(A) Small mass e\ A (B)
(C) Stationary negative charge c__L/b,:gu' - (D)

:és-1o-A-ﬁ$&i?--- R
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Total Marks: 48

PhySiCS (Essay Type) Group-@@)r all sessions)
o

Time: 1:45 Hours

Section-I
2. Write short answers of any five the following. 2x5=10
i. Differentiate between conc convex lens. ii. Define time period.
ii. Write two features of si rmonic motion. iv. Explain decibel scale.
v. What is silent whistle?Write’its one use. vi. Define total internal reflection.

vii. What is radius of curvature?Write its relation with focal length.
viii. Find the time period of a simple pendulum placed on earth where length of pendulum is 1m aind g=10ms~..

3. Write short answers of any five part from the following. 2x5=10

i. Define electromotive force(e.m.f). ii. State Ohm's Law and write its formula.
iii. What is NOT operation?Write its symbol. iv. State Joule's L.aw.
v. Define resistance and write its unit. vi. What is NOR gate?Write its truth table.
vii. Write two features of parallel combination of resistors. viil. What is meant by AND operation?
4- Write short answers of any five part from the following. 2x5=10
i. Define Electric field. ii. Define Half life.
ii. What is unit of Electric potential?Define it. iv. Define Electronic mail.

v. What is telecommunication? vi. Write names of two browsers in a market today.
vii. Find the number of Proton and Neutron in the nuclide defined by ’6]X.

viii. Write the formula to determine equivalence capacitance of capacitors connected in series.
Section -1I 9x2=18

Note: Answer any two questions from the following.
5. (a) Define loudness of sound.On which factors does the loudness of sound depend?
(b) A point charge of +2C is transferred from a point at potential 100V to a point at potential 50V.What 05
would be the energy supplied by the charge?
6. (a) What is solenoid?Explain the production of magnetic field due to flow of current in it.
(b) An object 10 cm in front of a convex mirror forms an image 5 cm behind the mirror.What is the 05

04

04

focal length of the mirror.
7. (a) What is nuclear transmutation?Explain Alpha( @ ) decay with the help of general equation and example. 04
(b) By applying a potential difference of 10V across a conductor, a current of 1.5A passes through it.How 05
much energy would be obtained from the curent in 2 minutes?
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Marks: 12 Time: 15 Minutes 415 &3 12:/7

At gz -yugf_,mﬂ‘ungfz;.,om,c.B,Aayzﬁt_pédvﬁaﬂqb@mu%/fd;_-,yzz:;-,uwu:_‘,ﬁ
e GBI e EED | C B AL

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each.
question are given.Which answer you consider correct, fill the corresponding circle A B.C or D given in front of each

question with Marker ar pen ink on the answer sheet provided.

1.1. SI unit for refractive index is: :c‘,&leKJ-(ﬁb:’{jt’; A4
(A) m X @) Nounit lwd/  (©) Nm Huk D) JC" LHJz

2. Electric field lines: A 2
(A) always cross each other uj&cﬁffg/»{l (B) never cross each other &Cfuﬁffg/»..g

(C) Cross each other in the region of strong field u}&)ﬁx’fz./»uguﬁ & el 15l

(D) Cross each other in the region of weak field ug&ﬁﬁﬁ. /»..{luﬁ Z.Ufl_!wj{
u:/t?c‘,b)'fu:)ﬁﬂoz,;go.scgm.’.{:ﬁ 3

3. If0.5 C of charge passes through a wire in 10 sec then

current in wire will be: fwsi)
(A) 50 mA (B) 0.5A ' (C) 10mA (D) 100 mA
4 An electric current in conductors is due to the flow of. tc_bgﬁz. Lo/ s a
(M) Positive ions ,:P""z%;g (B) Negative i ?3 Ay 1
(C) Free electrons s 5157 (D) Positive <@ges 7l ki

5 Direction of magnetic field lines inside a bar magnet is:
(A) From side to side J}’Jjgvd/uc_,‘fv.,g

P el BNl oy 5
= _

(B) From north pole to south pole J/’JJ 2 {#i
(C) From south pole to north pole I pdades Ji A3
VN

(D) There are no magnetic field lines{\ s
6. If ¥ = A+ B then'X'is "1 when;_
(A) A=1, B=1
7. Number of components
system(CBIS) are:
(A) 10 (B) 9
8. For sending information,optical fibre is used as.
(A) Transmission channel JF ﬁ/lx‘

(C) Decoder 83
9. Isotopes are atoms of same element with different:

:ﬁdquﬂ'd:f'x'?X :Mﬁ 6
0] (C) A=0, B=1 (D) A=1, B=0
puter based information :ujLﬁJ&}fﬁ(CBIS)(V eiated T
€y 7 (D) &

e A G e 8
(B) Reciever .z
(D) Transmitter V)
:.atn..iffbfcﬂ%:i_n/:ta,:iwiuugﬁi/? 9

(A) number of protons :Lvﬂfﬁg (B) number of eleciions )I,JJ?:/"?i

(C) atomic mass e (D) atomic number AL
10. In a vacuum all electromagnetic waves have the same: !UIJ{U’!; vﬂj,:‘;.,@-;‘;/*?fr(}g:r,:{, 10
(A) Frequency %) (B) Amplitude 1< e (C) Speed i (D} Wavelength 2
11. Speed of sound in air at one atmosphere of pressure and 21°C L,(JI}TJ:M/_:,E-;_,}Z“[DC/:fﬂ{.'J/j’(:"-f.g 11
temperature is: e sy
(A) 343 ms? - (B) 353 ms”? (C) 386 ms™ (D) 972 ms?

e bpaabeby K 12

(C) negativé e (D) positive yj':}g_j

27 10-A-TL I - ()

12. Object distance for real objects is always taken:

(A) zero > B) 2 »S
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2. Write short answers of any five part from the follow
i, What is meant by Amplitude? ii. ferentiate between compression and rarefaction.

iii. Define frequency.Write its relation with time p { iv. Differentiate between concave and convex mirror.
v. What is meant by audible frequency © ad?> Vi What is meant by refractive index?Write its formula.

vii. Write the names of two factors aff speed of sound.
viii, What is radius of curvature ?VVFi relation with focal length.
3. Write short answers of any five\ from the following.
i, Define electromotive forc write its equation. ii. Write truth table for NOR gate.
iii. Define AND operation and write its boolean expression. iv. Write two examples of use of analogue electronics.
v. Define mutual induction. vi. Write names of two current measuring devices.

vii. Differentiate between ohmic and non-ohmic conductors.

2x5=10
if

2x5=10

viii. Explain right hand rule to find direction of magnetic field in straight current carrying conductor. .
4- Write short answers of any five part from the following. 2x5=10
i, Write the unit of capacitance and define the unit. ii. Define background radiations.
iii. State Coulomb's Law and write its equations.
iv. Define information and communication technology(ICT). V. What is meant by penetrating power?
vi. Which are two important internet services used on internet?
vii. Write two characteristics of capacitors connected in series combination.
viii. Define isotopes and write the names of the isotopes of hydrogen.
Section -II 9x2=18
Note: Answer any two questions from the following.
tion of simple pendulum is an example of 04

5. (a) What is Simple Harmonic Motion?Explain that the mo
Simple Harmonic Motion.
(b) The point charge of +2C is transferred from.a pointatp
would be the energy supplied by the charge?
04

6. (a) What is NAND gate?Describe the working of House Safety alarm.
(b) An object 4cm high is placed at 2 distance of 12cm from a convex lens of focal length 8cm.Calculate 05

the position and size of the image.
7. (a) Define Nuclear Transmission and write general equations &, £ and 7 -decay.
(b) 1f 0.5C charge passes through a wire in 10S, then what will be the value of current flowing through 05

the wire?

otential 100V to a point at potential 50V. What 05

28-10-A-—
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,C & D to each
question are given. Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. The output of a NAND gate is 0 when: :);f;,(;:o.y,_*é"u(_bfia 1.1
(A) A=1and B=0 (B) A=C and B=0 (C) A=0and B=1 (D) A=1 and B=1
2. The brain of any computer is: :ci_f,,ub’,f"i’.:v;fﬂj” o
(A) Control unit =%y J:# (B) Monitor <L (C) memory (< (D) CPU s
3. What happens to the atomic number of an element, which /._.L’ L"Z.Jl:"zf.. 67 Z;;G;fﬂgli;.ﬁ _/C"i_,{!..,? 3
eject a beta particle? “{g‘/’}ltj’{
(A) increases by 1 ¥ Loz Ll (B) Stay the sa @ /u

4, Which one of the waves cannot pass through vacuum? WA ool 4

{A) Sound waves ;gs;f;h'l' dio waves sl

(C) Television waves );{:Ju?:éf @%) Light waves  Jfsesl
5. The loudness of sound is most closely related @1 Z‘f_:‘ﬂ/}":'}w&}b/dé)'? VoA 5

{A) Frequency J;f} (B) Pericd & (C} Wavelength m@;‘: (D) Amplitudejs uﬁ{f

6. The speed of light in air is 3x10°m in glass 2x10°ms™". LUEE3A0ms b Pl 6
-~ J:v"‘}’gﬂzﬁ,f-.b’.c_,- 2x10°ms™

(C) decreases by 2 ?Z.fg::.";.v (D) d c@e@ 1 Eibx (..u
<

The refractive index of glass {

(A) 0.67 (B)~'1.00 (€) 15 (D) 2.00
7. An ophthalmologist places a 2.00 D lens next to e rindvd ;%Lo.sso;!s’z.oooﬁf.uf.{l ki
0.35 D lens.The pcwer of combination is: ; :.L»gg,( o}f}/ Je
(A) 0.35D (B) 165D (C) 200D (D) 2.35D 2
8. Capacitance is defined as 1{-3‘.%(@/’&' ’—é’_/‘.’.ufu’gurf 8
(A) V/C (B) QN () Qv (D) VIQ
9. What is voltage across a 6 {2 resistorwhen 3A of e e A e Ll 6Q L1 9
current pass through it? e iyt 5::.51,)#&/;/
(A) 2V (B) 9V €) 18V (D) 36V
10. What is the power rating of a lamp connected toa 12V Jﬁgz,;&,g&,,j%’izc; SRe w12V 10
source, when it carries 2.5 A current? ?ﬁ‘,z,:{.i;/ §2.5ALULE
(A) 48 W (B) 155 W (Cy 30W (D) 60 W
11. Lenz's Law is in accordance to the law of conservation of: :‘;_beféuiﬁé‘ﬁu ?T;})G’ £~ 1
(A) energy ./ (B) mass U\ (C) momentum (“'?f (D) charge Lzb
12. Electron gun has an electrode which controls the flow of eiec:tn:nffL Se v/ U5l s, /"If::/Jl..w' tSw A 12
(A) Screen o F " B) Ghd 1S
(C) Anode s ;‘ (D) Deflecting plates g

25.10-A 3 ¥ -57000




S.5.C - (Part-1I) -A-2020

Roll No.___. P I (For all sessions) o
s/ @ W')»Lfl;’
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40.5m #91.340ms " i 25\ St T S 2s Vil 44/‘!.,%/5& W i
10=5x2 _ #U-—L'f/"’z’ii! gl.c.‘(jy(:_tﬁgt:bu -3
S Pelinel b\ i G WL i g Sl S S
-U/r/fdb‘”'l L8, "‘Z.MLU'J Vi {..)/U’:,u}aiuvr‘ v -éffufd/g’i?g.u//)u/"} v
‘ witdE f/l’(L/?}’”u»/HvU){"ﬁ’JJ/‘ Vil ‘LJ}J{JV}J&.U./V ,/'iu/-{/of wii
10=5x2 ) gq..wf"’é,m ém&)&.‘x‘bw -4
L S, i f"’.»}&u"ﬁ.f,:/ i L eSSy /s S NOR |
L S N u/gﬂdbfoN/u k(0 v S\ ABEGIE iy
o PP L AP A AL Nl oo S 8D St g ai Ty Vi
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04 éﬁ "bb;;,g,,’wuloﬂy,ﬂg () .5
05 -g,,ma(;/uuf/f-c.W”:JJ:ZAJJQULCC._/VJ ¢6cmi“v/:’g,(/u’(/uf-(u)
04 _J///Jl/led..rﬂ l//J'Z,J//Jr(JI) .6
05 V\fyujly\}’d/tu/w‘!c,w-:_thJ"/w!yé._ ;J”?SOV;HJULbJ’?‘I ...«U.:C+2C..f-(u)
04 ) /@"n}’& )J'/’}J")’(.us’/(J') g
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il
5 <
Physxcs (Essay Type)  Group-1  (For sions)
Time: 1:45 Hours o Marks: 48
ection-1
2- Write short answers of any five part fro f%llow!ng 2x5=10
i. Define the transverse waves and writg\its-one example. ii. What is meant by reflection of waves?

mpared to men? iv. Define vibratory motion.
vi. State the laws of refraction of light.

iii. Why the sound of women is shri
v. What is meant by SONAR?
vii. Define the compound microscope.
viii. Calculate the frequency of a sound wave if speed of sound wave is 340 ms™ and wavelength is 0.5m.

3- Write short answers of any five part from the following. 2x5=10
i. State Coulomb's law and write its formuia. ~ii.  Write two uses of capacitors.
ii. What is Ammeter?How is it connected in a circuit? iv. What is transformer?Write its types.
v. What is meant by mutual induction? vi. Define Relay Write its one use.

vii. What is the difference between electronic current and conventional current.
viil. Write the formula to find amount of energy in Kilowatt-hour?

4- Write short answers of any five part from the following. 2x5=10
i. Define "NOR" gate and draw its symbolic diagram. ii. Define thermionic emission.
ii. Define Half-life. iv. What are the secondary storage devices?
v. Write difference between stable and unstable nuclei. vi. Write down two advantages of electronic mail.

vii. What is difference between analogue quantities and analogue electronics?
viii. How fission reaction is controlled in a nuclear reactor?

Section -11 9x2=18
Note: Answer any two questions from the following.
). (a) Explain the different types of mechanical waves with examples. 04

(b) A convex lens of focal length 6¢cm is to be used to form a virtual image three times the size of the object. 05

Where must the lens be placed?
). (a) Write down the factors on which resistance of a conductor depends upon. 04
(b) A point charge of +2C is transferred from a point at potential 100V to a point at potential 50V.What would 05

be the energy supplied by the charge?

. {(a) Explain any two components of cathod ray oscilloscope. 04
(b) Haif life of radioactive element is 10 minutes. If the initial rate is 368 counts per minute, find the time by 05

which count rate reaches 23 counts per minute. .
26-10-A-57000
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,C & D to each
guestion are given.Which answer you consider correct, fill the corresponding circle A B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

= . .
G 3 P A

(For all sessions)
Group-II-_'.«s/

1.1.

Which waves require medium for their propagation?

(a

(A) X-rays g, =

e Qs A il iy 1A

(B) Radio waves ly:yis

(D) Electromagnetic waves s ks 4

(C) Mechanical waves Jys <
2. Which form of energy is sound? ?ﬁ;_r:’u%{,(g_?.)hi'?v 2
(A) Electricai ‘)i/? (B) Mechanical gffy& (C) Thermal J/? (D) Chemical J’:‘:(
3. Radius of curvature is of the focal length: :c‘_t'm;m“’@f}j.,/,ﬁpc’é, 3
(A) Half i< (B) Double (C) Equal .l @ (D) Three times /2
4. The endoscope used to examine the throat is called: ,__?, ,igtdui.m‘u&v:_{z’.wii 4
{A) Bronchoscope .,,-‘-f' 2. (B) cystéscope _{;ﬁw’
{C) Gastroscope _;,,C‘,‘ﬂ' ( pe .7:5‘;5,5
5. 5 joules of work is needed to shift 10C of charge fr @Iace J:‘ts.’f;’é..gsi,f;@/»;.,_&{rfa,kugﬁ1oc: 5
to another. The potential difference between the : :b‘xﬁ);t}"’;gw«;ﬁ AUl byt /s
(A) 0.5V B) 2V @ (C) 5V (D) 10V
8. When we double the voltage in a sim et circuit, we k'r"jul.«.‘iﬂu’;( ?ug“_.;sf bfass éu@f.‘»f /ub..,gﬁﬁ 6
double the: ‘=’J<’..tgx
(A) Current =2/ i (C) Resistance U*.. (D)BothAandB s
7. One Pico farad is equal to: :4,?944&4;.?5..? I 4
(A) 1x107"°F (B) 1x10°F (C) 1x10°F (D) 1x107%F
8. The value of 1 KWh in Joules is: e LredEnTenk (8
(A) 3.6x10° (B) 3.6x10° (C) 36x10° (D) 3.6x10°
: X
9. The logic operation performed by the given Gate is: RD_ P bﬁglﬁ; Wit s 9
(A) AND ! (B) NOR .t (C) NAND s (D) OR T
10. The equation of AND operation is: e ehleSe® % 10
(A) X=A+B (B) X= 4 (C) X=AB (D) X= A.B
11. Email stands for e B8 1
(A) emergency mail &5 4 (B) extramail J<iL
(C) external mail <24 (D} electronic mail k£ &
12. Which among the following radiations has more penetrating power? ?;:_.NL}/}!.: ..@)dfv&,/c. el j?rdé ,.J_' 5 12

(A) a beta radiation AL
(C) an aipha particle 51

{B} a gamma radiation z/uf

(D) all these are equal S L

27-10-A-3-39000
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OV section-I
2. Write short answers of any five p the following. 2x5=10

i, Write any two features of si rmonic motion. ii. State Snell's law.
ii. What is the difference b musical sounds and noise.
iv. What nature of images are formed by concave and convex mirrors.

v. Which sound intensity is taken as reference intensit/?
vi. A wave moves on a slinky with frequency of 4Hz and wavelength of 0.4m What is the speed of the wave?

vii. If the length of a simple pendulum is doubled what will be the change in its time period?
viii. With which characteristic of sound we can recogniz: two persons speaking with the same loudness?

3- Write short answers of any five part from the following. 2x5=10
i. Define potential difference between two points. ii. Define Joule's Law.
i Define electric field intensity and write its unit. iv. Name the methods of combining the resistors.

v. Define mutual induction. vi. Define electric power and write its unit.

vii. Define electromagnetic induction.
viii. Write the names of two applications of electromagnets.

4- Write short answers of any five part from the following. 2%x5=10
i, Differenciate between RAM and ROM. ii. Write the names of parts of C.R.C.
iii. What are logical operations? iv. What is Flash drive?

v. What is fax machine?Describe its working. vi. Write two characteristics of Beta-Particle.

vii. Define radioactive isotopes.
viii. What is carbon dating?

Section -1I 9x2=18
Note: Answer any two questions from the following.
5. (a) Discuss the motion of a ball placed in a bowl is an example of simple harmonic motion. 04

{b) The power of a convex iens is 5D.At what distance the object should be placed from the lens,so thatits 05

real and 2 times larger imageis formed,
6. (a) What is meant by series combination of resistors?Write their characteristics 04
(b) The charge of how many negatively charged partictes would be equal to 100 # C Assume charge 05
on one negative particle is 1.6x107°C.

7. (a) What are three basic logic gates?Give their boolean expression and truth table.
T e T e gl e e e i abearved for 29.2 s.Calculate 05
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker
or pen ink on the answer sheet provided.

1.1. "One kilo byte is equal to: e seaF1 14
(A) 1024 Bytes 41024 (B) 1024 kilo bytes .45 1024
(C) 1024 Mega Bytes  =.4,£+1024 (D) 1024 Bits U024
2. Isotopes are atoms of same element with different. -a B AL LS LRI T 2
(A) Atomic mass L £t © (B) Atomic number ~_{¢!
(C) Number of protons :UJJ'):’:.; (D) Number of electrons = {7y <)

‘ I &i%u:'u’.';f;cp:’UJ&fs.g 3

3. The relation among v,f and A of a wave is:

w v =2 ®) fA=v © vA=/ © v="~
%(/\o f
4. Which from of energy is sound? ) Oé& ?‘4(:'@;,(5'&}“,‘:;9 4
* (A) Electrical £2¢  (B) Mechanical J‘/-*C mal  J# (D) Chemical &<

5. An object is 14cm in front of a convex mirror. The

‘é’ LpBic iy sl rdema L A040 5

5.8cm behind the mirror. What is the focal lengtt mirror? ?‘Lyﬁ?@f}bﬁf.g.‘?gs.acmé

(A) 4.1 cm (B) -8.2 cm O (C) -9.9cm (D) -20 cm
8. The index of refraction of air is: -q,u"g)z.ﬂu’gﬁ!b’ v B
(A) 1.00 (B) (C) 133 (D) 1.52
7. According to Coulomb's | at happens to the attraction of two Jwiiut_mézzg..éﬂ?u)‘i&&féuiﬁi.,Jf T
oppositely charged objects & their distance of separation increase? ?f;;}i%w}‘fu%yuéuli’;%;b::f
(A) increases ‘L‘:‘km’f. ‘ (B) decreases c;.JIgn/’ '
(C) remains unchanged afuf;ziéf (D) cannot be determined J‘C kvd/gﬁf'}“
8. An electric current in conductor is due to the flow of: -ggJ il Lo/ o / 8
(A) Positive ions f’fﬁig (B) Negative ions ;P'v'k‘-:' (C) Positive charges 2k s%i¢ (D) Free electrons s/ 7
8. The unit of electric power is: ’ -5....'.:15’»5..6’-‘?1 9
(A) Vot 2hs (B) Joul 2 (C) Ampere &4 (D) Watt s
10. D.C motor converts. ) -;.g}/@fi}ftfdi 10
(A) Mechanical energy into electrical energy Jd}f.ﬂf'?'f&)lf"‘“
(B) Mechanical energy into chemical energy SATB TN
(C) Electrical energy into mechanical energy ui'd.jld”’-'c /&}IJ‘Q}‘?I
(D) Electrical energy into chemical energy S ﬂf&)tﬁ/’g!
11. The process by which eletrons are emitted by a hot metal = rwfuxa;u;:,;?uﬁ/&%:u’-m Al A1
surface is known as:
(A) Boiling ...6":,’ (B) Evaporation c?-u_;-:' (C) Conduction u’rﬂ’ (D) Thermonic emission ;ﬁ{l.fr:/;
12. In computer terminology information means: .@Jf(@’%&ilu:d:’b:/‘):g{ 12
(A) any data U;ﬁo"Jf (B) raw data L:#6 (C) processeddata:iisy (D) large data Lliesl)
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8.5.C - (Part-1I) -A-2019

P

PhySiCS (Essay Type)
Marks: 48

Group-I-.r:f

Time: 1:45 Hours & 1:45:50

(For all sessions)

(1) u//

48:ﬂ’

Section-I 2x15=30 Jil o
2-Write short answers of any five part from the following . 2x5=10 _4’6..:. LM}”L,IZI &g;df;.uﬁd.'}(w -2
i. What is meant by Crest and Trough. el /b A
ii. Define Wave. ‘ AP i
i How can we hear the sound produced by Tuning Fork? e 2 e AT g e SIAEE il
iv. Define Loudness. -¢I.aiJ&5; g .iv
v. What is meant by resonance of waves. ?c‘..;yg:_.,ﬁ' JJ;_’: v
vi. Prove that: 1Kwh=3.6MJ 1Kwh=3.6MJ : S St i
vii. Give two advantages of parallel circuit. -q/uy»’l}»&.'&rﬁﬁ Vi
viii. Define electroc power. S Sl S i
x6=10 - &=yz AL 71 e i ;,r.'U_'sr-,:, 3

3. Write short answers of any five part from the following .

i What is meant by regular reflection of light?

i What is refractive index of water and ice?

iii. Define Volt.

iv. Define electric field.

v. What is meant by lightning?

vi. Define Photo Phone.

vii. What is meant by secondary memory?
viii. What is fax machine?

4- Write short answers of any five part from the

i Define mutual induction.

i What is meant by eclectric motor?
iii. Write down the name of any two
iv. Define analogue quantities.
v. Define truth table.
vi. What is difference betw!
vii. Write down four properties of alpha (&) radiations.

viii. What is meant by nuclear fusion?

Section -II
Note: Answer any two questions from the following.
5. (a) Prove that mass attached to a spring execute

<&

simple harmonic motion.
(b)The power of a convex lens is 5D. At what distance the

object should be placed from the lens so that its real and two

time larger image is formed?
(a) State characteristics of Ohmic and non-Ohmic conductors.

(b) Two point charges g, =10uc and ¢, = Suc are placed at
a distance of 150cm. What will be the coulumbs force between

them? Also find the direction of the force.
(a) Explain briefly the transmission of radiowaves through space.
(b) Half life of a radioactive element is 10 minutes. If the initial

counts rate is 368 counts per minute, find the time for which

count rate reaches 23 counts per minute.
26-010-A--
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s of cathod-ray-oscilloscope(CRO). -

atomic number and atomic mass number.
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/ﬁ S8.C- (Part-11) -A-2019
RollNo.

R 5 17 * W (For all sessions) PaperCode| 7 | 4 | 7 | 4
KPF 10 = /,0) "Gﬂ Group-Il-..r:/ . "
PhYSlCS (Objective Type) (u“}/")JKf

Marks: 12 Time: 15 Minutes w2415 =3, 12:4
VA VORI .:-r.rJYTf.‘.,lzu)'rg_gi’-’:é.JDul,C,B,A.LE.':?;@_{;&JV/;&%QK@K@/‘G&;:AWL;UFY(Q!&)

Ll SRS 38 P s LD L CBAsz&LL
wer sheet provided. Four possible answers A B,C & D to each question
rresponding circle A,B,C or D given in front of each question with Marker

NOTE: Write answers to the questions on objgctive ans

are given.Which answer you consider correct, fill the co
or pen ink on the answer sheet provided.

1.1. - Which of the following action is not processing? ?g.u‘s':..ﬁn{u‘fbuf A4

(A) Arranging o'’ (B) Gathering ./ (C) Manipuiatingtf)?ﬁz (D) Calculating t/;'.if.,.v

2. Which of the following radiations has more penetrating power? ?ﬁ;.oJ_LJJ:g-fEi&JJ( Y - ﬁ’déldiéﬂ 2
(A) Beta Particle F((x (B) Gamma rays 40" (C) Alpha particle £ (D) all these s

3. Which of the following characteristics of awave is ?Jﬂgﬁi"?&?r';d/»:f:‘r‘ifuﬁﬂac_ufg_’_'S.;M‘-* e
independent of the others? Q
(A) Speed i (B) Frequency %} (C) Amplitude 3'-) Wavelength i%:

4. For a normal person, audible frequency range for a sound wave lines betwee ::»Ju"‘;f).f)ﬁb—uk&ié_édﬁfk_ﬁ 4
(A) 10Hz-10KHz (B) 20Hz-20KHz (C) 25Hz (D) 30Hz-30KHz

5. Power of a lens is the reciprocal of: < ’ -‘gan.dm‘gd’ﬂ 5
(A) Speed ir (B) Focal length 3@‘){:’ (@-‘requency c"';f,:’ (D) Wavelength 36-‘,'1':

6. Image formed by a camera is:

-‘caxcg.éééiﬁufa/{ 6
(A) Real, eract, same size 4'45:/&0?)@ (B) Real, inverted,diminished d;{qv:q}’lsgﬁ/
3

(C) Virtual , erect diminished  (1Fetcfs. (O) Virtual, inverted,magnified ¥ eefiecfi s

AW 7

7. Electric field lines:

(A) Always cross each other e a3kl 2k
(B) Never cross each oth

(C) Cross each other in egion of strong field ugJ/Jx‘:’L /n.._fu:.?_wz_:,iyup

(D) Cross each other in the region of weak field ug&/:r.’f‘._ /»..{IJZ..M_MW’
8. Electric power (P) is equal to:
(A) 1%V (B) V2 (©) R (D) IR

3 . o
9. If we double both the current and the voltage in a circuit while keeping G’m!..‘f'fé_xz’z.:.;”ﬁu”bu‘:.‘{/._gr?ﬁ 9
its resistance constant, the power

_q../,'z(P)»g..f}gl 8

2/:3];[ :/(C-G:fu;”
(A) Remains unchanged r,;uf’J/J:U.‘.' (B) Halves (wid )
(C) Doubles d’nd’:; (D) Quadruples th‘f)t;
10. Which part of a D.C motor reverses the direction of current through the LSl V& TS 10
coil every half-cycle? ‘et /eSSl e
(A) the armature 2.7 (B) Commutator < (C) thebrushes <z (D) Slip rings };?J—
11. The out put of a NAND gate is 0 when: S0 e Teles 11
(A) A=0 and B=0 (B) A=1 and B=1 (C) A=00RB=0 (D) A=10R B=1
12. Which of the following is not a storage Device? ‘.'ci-‘ﬁ"uﬁ'lﬁé:}

i Ayl 12
(A) Hard Disk _5354. (B) Flash Drive :fiAJ:B (C) Keyboard MJ (D) Cassattes uj
27-010-A- W



8.5.C - (Part-I1)-A-2019

T —— (For all sessions)

£ P = 10-1% - C’ Group-1I- -/
. /] (L u//’

P hySlcs (Essay Type)

Marks: 48 Time: 1:45 Hours & 1:45:=% 48: 72
Section-I
2-Write short answers of any five part from the following .  2x5=10 O /‘t'!?l &L.r. :. ;.ZJL -2
i, If the length of a simple pendulum is doubled what wil be the u:z;.(rl.w?‘.wﬁ' U A;UV
change in its time period? | L ﬂVu yg’
ii. Define restoring force. #GJ/‘JW:’.L:“’J il
i Tc.u)l/gﬂ:n:fﬁit—gy-;z’ il

i What is the difference between musical sound and noise?
iv. What is meant by ultrasound?

+JF/L/¢.£: Hﬂ' v

‘v. What is meant by reflection of sound? te s kLT v
vi. Define current and also write its unit. #Gd‘ LKl 4:.«1 /J../f Vi
vii. Prove that:1KWH= 3.6MJ 1KWH= 3.6MJ ,fc}f vii
viii. State Joule's law. é( Su96 L Jz il
3. Write short answers of any five part from the following .  2x5=10 #‘LW/’LA? :ff ufcbb» -3

i, Differentiate between concave and convex mirror. /u/\,)t,«/Jc r‘;:!;f

i What is mirror formula? Write its mathematical form: <g) egfdwfw?;_w Wby i
iii. What is meant by resolving power? @ ,n/y’c_m..f’ﬂ,/; kit
iv. Define electrostatic induction. /’JJC-!.@’:/? v

te % e%r,m,,le,ﬂ A5 9 v

v. Define electric field intensity and write its formula.
i

. <

vi. Define information technology and telecomunication. s f’J U’C,J:k . J{,C‘/;E}f

vii. Write a short note on fax machine. %&@ .,y/’}d:/ vii
viii. What is difference between RAM and ROM memori& *‘.:.u/u'uﬁd,vf"pml(; viil

4- Write short answers of any five part from t ng 2x5=10 !_,pﬁ,ﬂé,lyl éi,;,(j/‘ 5(,,,
i. Define mutual induction. O 4( YIESN

ii. State right hand rule. UgJ,"(ﬁ‘ S i
iii. Define thermionic emission. JJ":J:/ i

iv. Define analogue and digital .J/U' /‘ald”’;wl_fm'g' v
L pnl o ke i3t

v. Write two uses of cathode scilloscope.
vi. Defin fission reaction. 4};'/&,/’( 1 Vi
vii. What is meant by background radiations? ‘el Ve Fuskk S g i
vili. Write two properties of a-particle . gaupf’u&ﬁtw Vi
Section -II (925

ox2=18 gz felrl e S Slils L)

5. (a) Prove that a motion of mass attached to a spring performing 04 J’ JrJu‘Lc_xLy»’vLJ/I Ul () 5
-L‘/:’J)‘JQ

simple harmonic motion.
(b) A convex lens of focal length 6cm is used to form a virtual 05 ..A)Jr) 6cm E@JJJJ /Jur Y ()
£ bb{/ukrﬂ-c.t'bélg}g/:d’_/vbfufc—
ot g

image three times of size of object. Where must lens be placed?
6. (a) Write down the characteristics of parallel combination L‘_L:r"(' s /uée.u’c..g)‘ﬁﬁ_(..ﬂl) 6

Note: Answer any two questions from the following.

of resistors.
(b) If 0.5C charge passes through a wire in 10s, then what will 05 Jt."ﬂ—t’//’():kp10(5)cllbo SCu:;r..f / ()
be the value of current flowing through the wire? e i‘:«..z/ e

7. (a) What is meant by half ife of radioactive element and how is it 04 Sl s e SIS I 1 () T
..J/—-’Ln"c_ dbd/c(u"k.

measured? Explain.
(b) Discuss the role of information technology in school education. 05 gﬁ;b,&!;fédlb@ﬁwuﬂtd:ﬁ.(v)

28-010-A-



ﬁ*jﬁ(ﬁ S.5.C - (Part-IT) -A-2018

RollNo.__ o Sopmui ‘ PaperCode| 3 [ 4 | 7 | 7
Sessions;2015-2017 & 2016-2018 .

PhySiCS (Objective Type) Group-l-n;a/ (0:5 /‘)‘/C/

Marks: 12 Time: 15 Minutes 215 =3 12:4

Ay J83 T e Yo P £ 49D 1,C B Al gédﬁr/,-a_‘% Kz Bzl e iy ling d
-‘,{)/fc;.,d‘fﬂ; i &ZLI:../'DJW:.,(J:UU")LD L CBA sze L

NOTE: Write answers to the questions on objective answer sheet provjded. Four possible answers A,B,C & D to each stestion

are given.Which answer you consider correct, fill the corresponding cirgle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1. Law of Electromagnetic Induction was given by: -\[Jt;u)lil}"‘? ;J‘C‘,—r_@?,}?s 1.1
(A) Faraday <37  (B) Henry (s (@) Volta ths ©) G. Bell Jra1/
2. MRI! helps in diagnose the disorder of: ?.;-_&»,«.u:fu‘-y dei;.(f;( MRI .2
(A) Brain {4 (B) Eye 47 (C) Ear o¥ (D) Kidney s/
3. If x=A.B then x will be one when: JJn.J_,’l:—é g x}"x-;-A.B)’; 3
(A) A=0 and B=0 (B) A=1and B=1 {C) A=0andB=1 @(D) A=1 and B=0
4. Radio wave are: @ = -tk A
(A) Infrared é_;f);l (B) X-Ray 4_.1J§ l (C) %q@?&etic.@g}}?l {D) Mechanical JL-“'C
5. E-mail stands for: % | ?4.&?(‘// E-mail .5
(A) Extramail <1251 (B) External mail N1 ) Electronic mail J5ef3,291 (D) Emergency mail Ji5 24!
6. The temperature at centre of sun is: : ;Q? -C‘-,é'/;}{y}ézny 6
(A) U A20MK (B) u2m " ©) uHr24MK (D) WX *25MK
7. Time period of simple pendulum o ng is: -4.44(’ LK ,;;,,uz,',&w:.g | 7
(A) 1.99S5 (B) 2.1 (C) 1.89S (D) 1.88S |
8. One bel is equal to: ~cslz(Bel) JiLi 8
(A) 5dB (B} 10dB (C) 60dB (D) 20dB ‘
9. Frequency of tuning fork depends upon: -;./V;IKU"‘;{)JJ}.&’ .9
(A) Length {4 (B) Mass (/i (C) Force s (D) Amplitude 3™
10. Refractive index of water is: -.;_L/fﬁl}?)/ 1 dl.; 10
(A) 1.00 (B) 166 (C) 1.33 (D) 2.42
11. How much energy(million Joule) has a thunder of light: S s LG A2 AE LSS ST 11
(A) 1000 (B) 10,000 {C) 100 (D) 100000
12. Potential of neutral wire is: e Jm)’%&bg)};i g2
{A) 1V (B) 5V ov (D) 10V
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Sessions;2015-2017 & 2016-201R u";
’ ") .

PhySlCS (Essay Type) Gl‘OUP'Ifgd/
Marks: 48 Time: 1:45 Hours & 1:45:25 a8: /7
Section-I 2x15=30 _ d:!ﬂo
2-Write short answers of any five part from the following . 2x5=10 ‘g“.,u;,-»t,m 6L¢:_Jfa,uiJ;b» -2
i. Define transverse waves and longitudinal waves. -J/....v /‘JA; jsg%@nug; J/r’l/ .
ii. Define restoring force. -Lf AN S I
iii. What is difference between music and noise? e O SLine i
iv. Define Pitch and Quality. S PSS
v. Define intensity of sound and write its Si uiit. D o ..ASI Lwiu‘/::l{}(u (,_mf'é WV
vi. State the difference between regular and irregular reflection. -J/ut AL 2Kl shall Vi
vii. Define critical angle. gl SRS i
viii. State Sneli's law and write its formula. -u:"guf,:b{u’luufubu:'b KA il
3~ Write short answers of any five part from the following 2x5=10 c,‘!auttr"/“ﬁrlil gtc,dfc.uﬁd’ 3l =3
i. Define capacitor and write the names of its types. u‘ﬂ "Lr Wiguipl i 2l Srd
ii. Define potential difference and write its unit. STl J/JJ’/:J"? di
ii. Describe the importance of fuse and electric circuit. ~u’/ub../ld/»éu"..//_f A
iv. State Joule's law. /ubuib §J7 v
v. Define electric current and write its unit. J"{AK ru,:éﬂ/&,/_f/af RY
vi. Describe the working principle of D.C motor. =2 ubdﬂ(a/r(ﬁx/dd: vi
vii. What is basic difference between generator and motor? \Q/ : S WO Glb L 2rntfe 2 il
viii. What is magnetic resonance imaging? “c_.:l/(/c..-.fnui -'/J.ﬁfc‘ Vil

O
4- Write short answers of any five part from the following. @ ‘g{,w AL i éL‘;ch,J.’JJZ,» -4
i. Define thermionic emission. % f-ﬂ/’Ju"{”vfx.’/ |

ii. Give truth table of AND gate. @ e J"J;/KJ(AND)M i
fii. Write two uses of computer. % -u:{,uwmf./y{ il
iv. Differentiate between RAM and ROM. Q SIS ROMAIRAM iv
v. Define data. <o SIS v
vi. What is meant by isotopes? Write the n f isotopes of hydrogen. -u""fw_u—':‘fléj oYy ;i‘c.ﬂ/t/c.u-:‘/l Vi
vii. What is difference between atomic r and atomic mass? Se O/VAY VLA il

viii. Define the half life of a radioactive slement. <tJ /J]’JJU_J[,J .v:*ly'( 14, viil

Section -11 ‘ (22>

Note: Answer any two questions from the following. 9x2=18 -u’///...«l.fi’ﬁulﬂ »c—éfcrtﬂ(.f 5t LS

5. (a) Define wave motion. Explain the types of mechanical 04 WJ(L)!JA':JQ’( J ._ufJu’rg»(Jl) D
waves in detail. N ’/...)La:
{b) A convex lens of focal length 6cm is to be used tc forma 05 c..../L?Jf -<-6cm J@fi&)’ /«/C /.._C"-(u)
virtual image three times of the size of object. Where must the *’4w6/ut[ A oe til lJi»J../wJ L
lens be placed?

6. (a) Write a note on parallel combination of resistors. 04 u‘{.«u)i‘ﬁﬁ L () .6
{b} A capacitor holds 0.03 coulumbs of charge when fully charged 05 4...\«!./ 10y, Lw/,»"V ,ufc:,(, /’J 6V.»f /,r ) (o)
by a 6 volt battery. How much voltage would be required for it to ._/r’L/'k;ZC,; ¥ -c_t‘b:w"‘bzlw ¥0.03C,U1Y
hold 2 coulombs of cha’rge? “J..g,nb’u ui/ é:',

7. (a) What are AND gate and OR gate? Explain them with a 04 2l fitrLnied ORseS AND () .7
simple circuit and draw their logical symbols and truth tables. _z_u)%mvu“w_ﬂ u£.u,la{.,» sl 5L

(b} The activity of a sample of a radioactive Bismuth decreases 05 AP A k’:f:,’&/ﬂﬁu;’ﬁﬁ-(v)
tc one-eighth of its original activity in 15 days. Calculate the half -ujxﬂ; o { T};) I 4. iﬂ;/‘_k’ubf _21; 4

tife of the sample.
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5':\7 7:( * * S.8.C - (Part-II) -A-2018

RollNo.__ bt PaperCode| 3 { 4 | 7 | 8
Sessions;2015-2017 & 2016-2018 e
PhySiC S (Objective Type) Group-ll-»,’.«:/ (S5 )L/?
12:7

Marks: 12 Time: 15 Minutes 415 = I
A8z eon ot £ DA,CBA grz;@g!.wmz‘éq&qrzu‘;fvﬁ,;grzépwrf-mﬂ
' ' U A SIS EUsIHED | CBe A 7L
NOTE: Write answers to the questions on objective answer sheet prc//ided. Four possible answers A,B,C & D to each®uestion
are given.Which answer you consider correct, fill the corresponding cifcle A,B,C or D given in front of each question with Marker

or pen ink on the answer shest provided.

1.1, Who presented the laws of electro megnetic induction and efectrolysis? Trél i /o 3 s R 6620 1.4

(A) Ohm A (B) Newton i {(€) Coulumb 4 (D) Faraday < ji/

2. Which device is prepared by the principle of electromagnetism? ¢ 'ﬁg&.@@wa&rf?;@ 2
A) TV S (B) Electric motor 1 (C) C.D's 15 (D) Mobile phone ifly

3. Number of input terminals in NOT gate is: £ _{_.Jmlﬂgfﬁ-"}a;ulgjﬁ:,f.ut 3
(A) 3 (B) 1 (C) 4 @@ D) 2

4. 1024 kilobyte is equal to: ﬁv\o ~reorsiaA\ K 1024 4
(A) 1MB (B) 1-GB (C) 35 (D) 1-PB -

5. When C.D is made of soft elastic material then it is ¢ -98&’%&&}_’%.&&?{}656/7 5
(A) Hard Disc L34 (B) Floppy Disc L3} C) Compound Disc{-345L (D) Metallic Disc L5t

6. Half life of lodine } is: - —e S Zq;:.’ 6
(A) ¢» 10.5 Days (B} o Days {C) ¢» 12.5 Days (D) ¢ 16.9 Days

7 If the length of a pendulum on earth is one meter, thep its time period will be: -4/ L’(J'?n/’-fvgéwfﬁ}g@{uﬂﬁ b ;
(A) 2Sec (B) 10Sec (C) 6Sec (D) 1Sec

8. Sound level of rustling of leaves is: | -.;_J,A;-sw’my/:fuz .8
(A) 2008 (B) 10dB (C) 30dB (D) 60dB

9. At 25°C speed of sound in wood: :guﬁ'r,udﬂ%zs% .9
(A) 2500mSec™ (B) 2000mSec™ {C} 3000mSec™ (D) 4000mSec™

10. Refractive index of ethyl alcohol is: et B KIS 10
(A) 1.48 (B) 1.45 (C) 1.40 (D) 1.38 |

11. Which thing is used as a dielectric in mica capacitor? ?:‘.deb&'f )_ng;f.//’.aféibk’uf ‘/e{ﬁx.l 11
(A) Mica ! (B) Plastic —fu (C) Amunium @k (D) Paper g

12. Specific resistance of copper is: -.f_gnu"”)/..@r&b’ 12
(A) 1.99 (B) 1.69 (C) 1.50 (D) 1.20 -
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| ﬂySlCS (Essay Type) Group-ll-v:/ . (.:L’E;l) J ?
Marks: 48 _ Time: 1:45 Hours & 1:45:2% 48 /'

Section-1 ﬁ;
2-Write short answers of any five part from the following.  2x5=10 W/‘?C’f?! c..éfc. J’sb» -2
i. Define simple pendulum. Write the formula of its time period. -u'..“ay b(fﬁ(f&gﬂd/df H ,«.—Jf‘ K

ii. Define transverse wave and give an example. ..u:dc'-uluf..ﬂf'&,,nr‘f/ i
iii. In which medium sound waves move faster,solid or ligiud and why? YUJLJ'C’LLJ}JJ/}’QJ it ki Al draned il
iv. What is meant by ultrasound? , "4.:l/u’c.,uw/l iV
v. On what factors does loudness of sound depend? “:_/Jlfd/ fob’ub...)l v
vi. State laws of reflection. -ufuuu"b’é.fdy i
vii. Differentiate between concave and convex lens. -J/ul,u)u: /’f/ JI;Q/ Vil
viii. Define critical angie. jﬂf/ IJEES i
3- Write short answers of any five part from the following .  2x5=10 q‘_‘auu?/"&pl}'i étgf e LUits -3
i. What is Si unit of capacitance? Define it. ..J//"JJI"(_{,Q/!SM)’ o’f J
ii. Write down two characteristics of electric field lines. JHL:%JJ /M)J/al i
iii. Define electric current and write its unit. &au/b’ul»'g{_ﬂ/’g(uf.ffd! i
iv. What is meant by non-ohmic conductor? | S slple JUl gt v
v. Differentiate between e.m.f and potential difference. ' -%}d&)jd’%nw-gr_w v
vi. Define mutual induction. i S5 S i
vii. What is transformer and on what principle it works. ?;_r)?b’/d,aru/,,,r Wrsdlt Vil
viii. Describe Lenz's Law. Luiﬁ'b’/ Vi
4- Write short answers of any five part from the following. 2x5=10 @,Ur/ﬂénﬂ él,‘,d,(g‘;d S 4
i. Give two reasons to support the evidence that cathode rays @ﬁ@b 5 , 74 3y jg_‘, WOV ,Ju,d;,, ¥
are negatively charged.

ii. What is meant by digital electronics? Also give its one examp%&) -u‘:u" J&J uru‘!*‘c.: /Lfa.u’( r 5 i
iii. How many essential parts a communication system co “c.tnd")/ur’(' lz‘.’./("’ 5 J I
Write their names 5‘}% s fté:uf
iv. What is difference between web-browsing and e—@ e IML SIS inscs iv
v. Differentiate between hard disc and compac _u/utfu/‘,;‘:..c,_»f:’::l..@ut v
vi. What is difference between natural and attificial radioactivity? _ e GV G A um)"’d,',,;bl,t Vi
vii. Describe two uses of radioisotopes. i arch. -J/ul.‘..mrl”u‘ u"Zuﬁyr 9k, i
viii. Write the penetrating power of alpt particle and gamma ray photon. -u:’g:t.ﬁ/&gfum_mﬁ,!fftwl Viii

Section -II ».-o

Note Answer any two questions from the following. 9x2=18 = ./ f /{.4! ..«!Jln:c.dfc_gﬂdjba w2y
5. (a) Write down important features of S.H.M and explain it with 04 Jf" J:L/:ULM ey IJJer;J’ @ .5
ball and bow! system. : _»met;.d&
(b) A convex mirror is used to reflect light from an object placed 05 ¢z LsteyrdblB60m &bz }/J-g/..f (o)
66cm in front of the mirror. The focal iength of mirror is 46cm. C 1..4.46cm A‘@Jid/ /&L _e.-ﬁ"zfu’udl:L I
Find the location of image. PP u‘J

6. (a) Find equivalent resistance of a parallel circuit of resistances. 04 -Jfr J’u :L»J /’yd&iu".J/ﬂﬁ_(Jl) 6
(b) The capacitance of a capacitor is 100PF, if the potential J.f LLP'?U,-:’:J’ V23 )'/J t (o)
difference between its plates is 50V then find the quantity of /-J )’/ 2550V J‘/:J’”{uw;éur‘f . 100PF
charge stored on each plate. LT /bz_bg.nr/...l

7. (a) What are three universal logic gates? Give their symbals 04 JJ'uLU‘JUI?U";,ufu,r — g‘)’,,; wf_(_al:) 7
and truth tables. e b AR

(b) The activity of a sample of a radicactive Bismuth decreases 05 /zu)’bf,é’],( AL }}Qgém&uinsﬁ.(v)

to one-eighth of its original activity in 15 days. Calculate the half " /f e (T%) JU..J;. J E‘J‘E’?_lguw' % ¢

. life of the sample.
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